NSSNALPOA HLE

/
L |
o=
L
v
v
V8
-
o=
—
Lid
Lid
—
(V)

TR | 12"




20




Truss Series | 12" Steel

;i
i
i
i
i
i
1
i
i
4

Standard Material
Standard Finish
Available Finish(es)
Hole Size

Recommended
Hardware

Recommended Tools
For More Info

M
K
_ v o
& e Qe
A36 Low Carbon Steel
25 - Silver
20-33

11716" (17.46mm)

5/8"-11 Thread Grade 8 Bolt, 2.5" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Tool Kit 1
www.ModTruss.com

Part # Size Weight
MT-TR-12-12-006-ST* 12" x 12" x 6" (304.80mm x 304.80mm x 152.40mm) | 25.00lbs (11.34kg)
MT-TR-12-12-012-ST 12" x 12" x 12" (304.80mm x 304.80mm x 304.80mm) | 38.85lbs (17.62kg)
MT-TR-12-12-024-ST 12" x 12" x 24" (304.80mm x 304.80mm x 609.60mm) | 65.30bs (29.62kg)
MT-TR-12-12-036-ST 12" x 12" x 36" (304.80mm x 304.80mm x 914.40mm) | 90.95Ibs (41.25kg)
MT-TR-12-12-048-ST 12" x 12" x 48" (304.80mm x 304.80mm x 1219.2mm) | 113.60Ibs (51.53kg)
MT-TR-12-12-060-ST 12" x 12" x 60" (304.80mm x 304.80mm x 1524.0mm) | 143.65Ibs (65.16kg)
MT-TR-12-12-072-ST 12" x 12" x 72" (304.80mm x 304.80mm x 1828.8mm) | 168.00Ibs (76.20kg)
MT-TR-12-12-084-ST 12" x 12" x 84" (304.80mm x 304.80mm x 2133.6mm) | 195.75Ibs (88.79kg)
MT-TR-12-12-096-ST 12" x 12" x 96" (304.80mm x 304.80mm x 2438.4mm) | 223.40Ibs (101.33kg)
MT-TR-12-12-108-ST 12" x 12" x 108" (304.80mm x 304.80mm x 2743.2mm) | 249.15Ibs (113.01kg)
MT-TR-12-12-120-ST 12" x 12" x 120" (304.80mm x 304.80mm x 3048.0mm) | 275.85Ibs (125.12kg)

WAOe
OEQ
ADC

Made To Order Customizable Reusable Compatible*

Serialized & Traceable

*MT-TR-12-12-006-AL is only compatible with standard Truss on 12" sides, not 6" sides

U.S. Patent No. 8,418,425 & other patents pending

B
L
JH
PR
L
MR-
AC
Hw
AL
M-

L

GL



22

Series | TR Truss 12"

Product Number | MT-TR-12-12-XXX-ST

“YIAWNN 13Vd

L1S-XXX-¢l-¢-d1-IW
[S¥'1£1]
SSNYL 1331S .2 LX.Cl SL9

NOILdINOSIa ©
wnosna | g10z/81/6 . o o
At
W NI 3V SNOISNIWIQ [ ] 1330vae | mm:..—.h.u _U—__:___ o o
[65'1] 90°F - QAW - 13AI1 NOISIDId o

[S€9]
AR ARARIEY ST 00zl

1S-801-Cl-Cl-dLl-IW
1S-960-¢1-¢1-dl-IW r
1S-¥80-CL-CL-dLl-IW

| _[osvoe] |

[029/]
00

[98'70€]
00Tl

O

H (o] (o] o O Q o (o] (o]
o o o o
: ,
[02'9/] ° o o ol
— \
00'¢ o o o °
o o [o) o
(o] o o (o] o % Of
4

A
\

)

\

\
)

\
/

[oL8g] L

051

1S-¢/0-¢1-Cl-dl-IW

1S-090-¢1-¢-dl-IW

Q Q
O (e} O (e}

1S-8¥0-CL-CL-dLl-IW

——

1S-9€0-¢L-Cl-dLl-IW
1S-¥20-¢l-¢l-dl-IW
1S-¢10-¢1-¢l-dl-IW

[08'+0€]
00Tl

-

1S-900-¢1-90-dL-IW

[02°9/]
00'¢

[ov'zsl]  [ogwog]

ﬁ 009 00l
!

[Sv1£1]
S/°9

ﬁ [97£1]

69

(096091

00v¢

*

|

lov el
009¢ [0z8lzl]

« oogy [00¥ZSl1]
‘09 loggzall

00

00

oleielelele
foteteteote

44

iefeieteieteie:

[09°¢
00

€17l
78

[ofefeieieotelete;

[ovgeve]
00

26 [ozersl

00801 [p0"g¥ogl
00021

isfereieieiejelele:

iofeiereioteletelele:

NSSNALPOA h.w

U.S. Patent No. 8,418,425 & other patents pending



	Tom sida



